— 3 B RIFEASE

( IMTKCHAEBEBEART —# N—2]

BT B AR O] PR B ) 1 TKC AR e, T
DUILRIHER SN b DTh 5 = & 2B LT,

17 T4 ALER H

1| FRk2 14 4A% (GB1aE) V2 14 7H30H

2 ¥pk2 14 5H (B1[RE) P2 14 7H30H

3 FRk2 14 6 H (B51E) V2 14 7H30H

4| FR2 14 7 A4 GB1ED P2 14 947 9H

5| FEk2 14 8 H4r (BB1R) FRE2 14 9A11H

6 Fpk2 14 9HA (G1E) R 2 1451 0H 1 3 H

7 FEK2 110 A5 (BE1ED VEk2 11 1H16H

8| WEK2 141 1A% (Bl Rk 2 141 2H10H

9 | FEk2 1412 A% GE11E) V2 242 17 6 H

10 | SFRk2 24 1 A4y (B 1E) V2 24 2H10H

11| k2 24 2 Hy (B 1) FRi2 242 347 9H

12 | k2 24 3 A4y (BB 1E) V2 24 47 9H

13| SFEk2 24 3 H%r (GB2E) FRi2 242 543 1H

14 NGRS FR2 242 5H31H
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